EARAZROREIERT — 2 N—XBISY —F 2016538168 (k) 20@IK#H3H

N>R C21112 EEDE IR
[A&4] 1 7% :1,000,000  ~ 23 :300,000 . 33:180,000  ~ 4 #:120,000 @ .~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< s . FEZ :15. - . - EaARE— (KH)
117110 F—3IT w12 # 5 56.0¥ 1(1_5)5 10-9 37.9 4 (5_046) s
LY IRG4 TR Br:h—FoFra-x /A7 NI 114
o o Ail%EE :15. = . — AmE= (K#H)
2|8|12| 7L FREY Y b R s N " | @ T2
R:7yIo—L BAESTLTU-—> FLENRB
~ EIHEER : - - SCAEMR (KFH)
3 7| PyF=TU /IR R 1('31/%7 [ s :;1) i
LA xeL I b B:T7YTI—N—Fh RE &
= o= )13 : - — KA (KH)
4 4|V LS1F1F— o4 i 1(/7151:)7 7-5 38.4 6 f; el
LY LTAN=—F BIIZANYT BE R
. = = # 5 | HIBEXS 1:15.8 12-12 381 — 1 483 | KEZEH (KH)
5/5|6 Ty HAITA—Z= 54.0 (1/2) (-8) |FEME—
L:7A7% B:A=-%>54X IWE R
LS, s 4 | FIEEA 1:16.2 2-3 9.2 — 8 485 | fEEFR= (KH)
6|81 ¥=77 =74 54.0 @) o) | TR
LNNVTSY BZY /Iy b =ltve
- AP o4 | EBERH 1:16.3 2-2 39.3| — 5 433 | BEBEX (KFH)
7\7|9|N\=—7 LYzl 54.0 (172) (g) | (B) ¥rF-L—vy
L:ZRZyYzlb BiNZ—=N2 b J=HrTp—L
— KHEZ : - — HFEZFE (KH)
8l5l5| 7T/ AFaT i 5 L 1.(116).5 10-9 38.9 2 (4;9) g#gi
LY LFAN—h BT/ SZHN K&
N . £ 4 | WAREE 1:17.0 4-4 39.9| — 9 483 | FEILRSE (\HA)
1 6 K TrIA4v TR - 56.0 (2 1/2) o) (%) T27«
v NnNyarhTr BA-NALIXEAI HE77—»4L
= — < P HIER 7. - . = JEERRIR (KFH)
Bl slevs50=29 44 o 1(117)2 5-5 40.0 1 (4_238) A
L:T77ZVIT7 B:X-—IN—FF7— hEE A
— e st 4 | ATHAER 1:17.2 9-11 39.6| — 10 | 486 |=EEH (KH#)
11 1| =27>Y7%/ 56.0 (76 o |Em=Ef
Z:vA7x B:7x-—0 HRXEHE IVACTrF—L
2 _ i 4 | AT 1:17.6 5-8 40.4| — 12 | 423 |1EEES (XH)
12| B/ H- 54.0 0) (7) | TEET
R:T77RAUIT7 B:RAT>F—y—<> Lii=kae=]
@ 1—F—@&BIEf
13—7—
23—7F—
30—7+— 12,(9,11),8,(2,3), (4,7) ,1,(5,10) ,6
43—7F— |[12,9,11,8,(3,4),7,2,(5,10),1,6
[ RN
B OB 10 920H 714K 10-12 1,330H e & 7-8 3,220 &R 7-10-12 9,150
% B 10 260 7-10 640 | | # B 7-8 5,720 | | 3EE | 10-12-7 99,470
12 440M 7-12 1,010 B E 10-12 10,350M
7 1909 B H 10-12 25,160

ABICOVWTRDTEEERROODE. TR LIV,



